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- AR D TIRIZlEET 51 i SMERR
B4 TREDBIDOBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
7 100kN/m%EBZS| 1.00 | 000 ~ 311 149.64 |3mEBZS| 000 ~ 054 333 16.84 | 100kN/mi%#2% | 1.00 | 1126 ~ 2765\ 149.64 |3mERZB| 2500 ~ 2765| 3.33 16.84
zhst 1.00 | 311 ~ 09| 100.00| ThS | 0.54¢ ~ 1090 3.00 15.16 zhust 1.00 | .00 ~ 1126 100.00 | Fnst | 500 ~ 2500| 3.00 15.16
2 100kN/m%EBZS| 1.00 | 000 ~ 310 149.38 |3mE#BZS| 000 ~ 0.10] 3.05 15.44 | 100kN/m%EEZ3 | 1.00 | 1053 ~ 2766 | 14938 |3mEfB2ZB| 2500 ~ 2766 3.05 15.44
zhst 1.00 | 310 ~ 1088\ 100.00| Fhs | 0.10 ~ 1088| 3.00 15.16 zhust 1.00 | .00 ~ 1063 100.00 | Fns | 6.00 ~ 2500 3.00 15.16
3 100kN/m%EBZ%5 | 1.00 ) 000 ~ 275 14344 |3mZE¥BZS - ~ — — — | 100kN/m%# 7% | 1.00 | 1053 ~ 2383 143.44 |3mZEBZ 53 - ~ — — —
zhst 1.00 | 275 ~ 1054 100.00 | FhS | 0.00 ~ 1054 2.70 13.62 zhust 1.00 | .00 ~ 1063 100.00 | Ens | 600 ~ 2383\ 2.70 13.62
4 100kN/m%E#8z%5 | 1.00 | 000 ~ 247 | 13865 |3mE8BZb - ~ — — — | 100kN/mM%#Z2% | 1.00 | 11.30 ~ 3000| 13865 |3mERBZSD - ~ — — —
zhst 1.00 | 247 ~ 1025 100.00 | Fhsh | 000 ~ 1025 291 14.71 Fhst 1.00 | 5.00 ~ 1130 100.00 | Fhst | 500 ~ 3s000| 2.91 14.71
5 100kN/m%E#B 2% — -~ = —|3mzBZ3 — ~ — — — | 100kN/mEB 2% — — ~ — —|[3mz8BZ D — ~ — — —
Zzhn st 1.00 | 0.00 ~ 545 68.02 | Fhds | 000 ~ 0.00| 1.68 8.49 zhust 1.00 | 5.00 ~ 6.00 68.02 | Fhst | 500 ~ 6.00| 1.68 8.49
g 100kN/m%E#B 2% — -~ = —|3mzBZ3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ 5 — ~ — — —
Zzhn st 1.00 | 000 ~ 526 65.55 | FhUs | 000 ~ 0.00| 1.59 8.04 zhust 1.00 | 5.00 ~ 6.00 65.55 | Fhst | 500 ~ 6.00| 1.59 8.04
7 100kN/m%E#B 2% — -~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ D — ~ — — —
Zhst 1.00 | 0.00 ~ 477 59.50 | Fnls | 0oo ~ o000 1.71 8.66 Zh st 1.00 | 5.00 ~ 5.00 59.50 | Thls | 500 ~ 500\ 1.71 8.66
100kN/m%E#B 2% ~ 3ImEBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBZD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/mZE#B 75 ~ 3ImEBZD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBZD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3mEzBZ5 ~ 100kN/ M%7 5% ~ 3ImEBAD ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m%E#B 2% ~ 3ImEBz5 ~ 100kN/ M%7 5% ~ 3ImEBAD ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~




